
   Class Notes 

Class: VII 
 

Topics:        Worksheet on Literature 
and Grammar  

Subject: ENGLISH 
 

 

Literature  

Read the questions carefully and answer properly: 
      

1. ‘It is the recognition that none of us is perfect’ 

a. What is ‘it’ here? 
I) Courage 
II) Anger 

III) Rage 
b. When do we recognise that none of us is perfect? 

I) When it is easy to criticize others 

II) When it is easy to fail 
III) When it is easy to give up 

2. What do you mean by ‘it’s easier to believe what we’ve been told’? 

3. What was special about Kalam-Raju stent? 
4. What are dreams according to Dr.Kalam? 
5. When did Dr. Kalam serve as the Chief Adviser to the Prime Minister? Who 

was the then Prime Minister? 
6. Enumerate the educational background of Dr.Kalam. 
7. What is nanotechnology according to Dr.Kalam? 

8.Who was Maya Angelou? Name two poems composed by her other than 
‘Caged Bird’. 
9. Why do you think the third stanza of the poem ‘Caged Bird’ has been 

repeated?  
10. Is ‘Caged Bird’ a poem of a bird in a cage or metaphor for something 
else? Bring out the contrast in your own language. 

11. ‘Honesty and courage shape our character.’ How true is the statement? 
12. What do you mean by ‘the grave of dreams’? 
13. What do you mean by ‘his bars of rage’? 

14. What figure of speech has been used in the expression ‘the sighing trees’? 
Why were the trees sighing? 
15. ‘Courage is the desire to maintain our integrity 

When it’s easier to look the other way.’ 
I) What do you mean by integrity? 
II) Explain ‘to look the other way’. 

III) Why is this ‘desire’ important? 
16. Why was the tune of the caged bird heard on a distant hill? 
17. ‘A garland made out of flowers from heaven will descend for the most 

generous and kind person in the town.’ 
I) Which town is referred to here? 
II) When was it last received? 

III)Who received the garland that year? 
18) Who was the orphan boy? What lesson did he teach? 
19) Who was Rear Admiral Sanjay Vadgaokar? 



 
Grammar  

 

20.A. Join the following sentences using conjunctions: 

 

1. He will not spend his money. He will not invest it.  

2. John is a doctor. His wife is a doctor.  

3. He is very ill. The doctor asked him to rest.  

4. Tom was down with flu. He could not attend the class.  

5. Iron is found in India. Coal is also found in India.  

6. I had no ticket. I was able to get in.  

7. John did not work hard. He failed in the examination.  

8. He left home early. He arrived late.  

9. He is very fat. He cannot walk fast.  

10. He has to come in time. He will not be able to see me.  

 

 B.Change the following sentences from affirmative to negative: 
I) Ram is taller than Sita. 

II) The question is difficult. 
III) He goes to bed after midnight. 
IV) Only a little child would talk like this. 

V) My shirt is loose.  
VI) As soon as the clock struck ten, we went to sleep. 
VII) As soon as he came, it began to rain.  

VIII) He is too miser to spend any money.  
IX) He is richer than I. 

X) He loves all.  
 
 

 

 

 

 



 

 

 

 

 

 

 

 

 

 



Class Notes
Class: सातव� Topic:

काय�प�क – एक �तनका, नीलकंठ, भोर और बरखा
�ाकरणSubject: �ह�द�

नीलकंठ

�� 1. ले�खका ने टूटे पंज� वाली मोरनी का नाम �या रखा था?

(i) कु�जा
(ii) �च�ा
(iii) कजली
(iv) राधा

�� 2. ले�खका ने टूटे पंजे वाली घायल मोरनी को �कतने �पए म � खरीदा?

(i) तीस
(ii) प �तीस
(iii) सात
(iv) बीस

�� 3. नीलकंठ और राधा को कौन-सी ऋतु सबसे अ�� लगती थी?

(i) �ी�म ऋतु
(ii) वषा� ऋतु
(iii) शीत ऋतु
(iv) इनम � से कोई नह�

�� 4. साँप ने �कसे �नगलने का �यास �कया था?

(i) �च�ड़या को
(ii) राधा को
(iii) खरगोश के ब� े को
(iv) इनम � से कोई नह�

�� 5. ले�खका ने बड़े �मयाँ को इनाम के �कतने �पए �दए?

(i) पाँच
(ii) दस



(iii) प��ह
(iv) बीस

एक �तनका

�� 6. क�व के साथ �या घटना घट� ?

(i) क�व अचानक �गर पड़ा।
(ii) क�व क�आखँ म � �तनका �गर गया।
(iii) क�व के �लए �ववाह का ��ताव आया।
(iv) क�व ने संुदर क�वता �लखी।

�� 7. क�व पर �कसने �ं�य �कया ?

(i) अ�ल ने
(ii) सहपा�ठय� ने
(iii) पड़ो�सय� ने
(iv) घमंड ने

�� 8. �तनका’ क�वता के क�व कौन ह� ?

(i) महादेवी वमा�
(ii) अयो�या�स�ह उपा�याय ‘ह�रऔध’
(iii) मीराबाई
(iv) भवानी�साद �म�

�� 9. एक �तनका’ क�वता से हम � �या स�देश �मलता है ?

(i) घमंड करना चा�हए
(ii) गव� करना चाहए
(iii) घमंड नह� करना चा�हए
(iv) इनम � से कोई नह�

�� 10. दबे पाँव भागने का अथ� है -----

(i) �बना आहट के भाग जाना
(ii) धीरे से �खसक लेना
(iii) पाँव को दबाकर भागना
(iv) ‘क’ और ‘ख’ दोन� कथन स�य ह�



भोर और बरखा

�� 11. �कस बात से पता चलता है �क भोर हो गई है?

(i) गो�पयाँ दही मथ रही ह�।
(ii) सभी घर� के �कवाड़ खुल गए ह�।
(iii) �वाल-बाल जय-जयकार कर रहे ह�।
(iv) उपरो� सभी

�� 12. मीरा ने कृ�ण को �गरधर कहकर पुकारा है �य��क...

(i) वे पव�त उठाते ह�
(ii) गोवध�न पव�त को उठाने के कारण
(iii) वे पव�त पर रहते ह�
(iv) इनम � से कोई नह�

�� 13. �वाल-बाल अपने हाथ� म � �या �लए �ए ह�?

(i) लाठ�
(ii) कंबल
(iii) माखन-रोट�
(iv) मटक�

�� 14. मीरा को �कसके आने क� भनक �मली है?

(i) �वाल-बाल� के आने क�
(ii) गो�पय� के आने क�
(iii) �ीकृ�ण के आने क�
(iv) माँ यशोदा के आने क�

�� 15. उम�यो का अथ� है-

(i) पैदा होना
(ii) उमंग उठना
(iii) आजाद होना
(iv) वषा� होना

�� 16. यशोदा कृ�ण को �या कहकर उठा रही ह�?

(i) ललना
(ii) बंसीवाले



(iii) मेरे �यारे
(iv) उपरो� सभी

�� 17 प�ठत पद के अनुसार मीरा के �भु �ीकृ�ण कैसे ह�?

(i) अपनी शरण म �आये का उ�ार करने वाले
(ii) ��� का संघार करने वाले
(iii) गो�पय� का माखन चरुाने वाले
(iv) गाय चराने वाले

�न�न�ल�खत द�घ� उ�रीय/मू�यबोध ��� के उ�र �ल�खए।

�� 1. हम � सुबह ज�द� �य� उठना चा�हए? सोचकर उ�र �ल�खए? [ भोर और बरखा ]

�� 2. 'नीलकंठ' पाठ से हम � �या संदेश �मलता ह?ै [ नीलकंठ ]

�� 3. 'एक �तनका' क�वता म � �कस घटना क� चचा� क� गई ह,ै �जससे घमंड नह� करने का संदेश �मलता है? [ एक �तनका ]

�� �न�न�ल�खत ��� के उ�र सं�पे म � �ल�खए।

(1) आँख म � �तनका पड़ने के बाद घमंडी क� �या दशा �ई?

उ�र-

�ाकरण खंड



�न�न�ल�खत ��� के उ�र �ल�खए

��1 ��या �वशेषण से �या ता�पय� ह?ै उदाहरण देकर समझाइए।

उ�र-

��2 समु�यबोधक �कसे कहते ह �? उदाहरण देकर समझाइए।

उ�र-

��3 �नपात के तीन उदाहरण पूण� वा�य म � �लख �।

उ�र-

अंतर�� क��जए

(क) उ�े�य तथा �वधेय म �

उ�र-

(ख) �वशषेण तथा ��या �वशेषण म �

उ�र-



MATHS   WORKSHEET
STD - VII

OBJECTIVE
Q.Choose the correct option from the  following.
1. The denominator  of a rational number  ‘0’ is
a) 0
b) 1
c) both a and b.
d) none of these
2. The numerator of rational number -5 is
a) 0
b) 1
c) -1
d) -5

3. The denominator of the equivalent rational number of 
−12
13

 is

a) 36
b ) 48
c) 60
d) 91

4. The greatest rational number between 
5
7
, 
8
9

 ,
−13
15

 and 
9
10

 is

a)
5
7

b) 
8
9

c)
−13
15

d)
9
10

5.The area of a parallelogram with base 15 cm and height 12 cm is
a) 90 sq.cm
b)180 sq.cm
c)190 sq.cm
d)200 sq.cm
6. If area of a triangle is 36 sq.cm and height is 3 cm then base of the triangle is
a) 12 cm
b)16cm
c) 18cm
d) 24cm
7. The area of a circle with radius 30 cm is
a) 2822 sq cm
b) 2824 sq.cm
c) 2826 sq.cm
d)2828 sq.cm
8. The radius of the circle with area  616 sq.cm is
a) 7 cm



b)14 cm
c) 21 cm
d) 24 cm
9.Perimeter of a square field whose area is 144 sq.cm is
a)36 cm
b)48 cm
c) 60 cm
d)72 cm
10. Value of 5m – 4 when m = -3 is
a)11
b)-19
c)-21
d) none of these
11. Coefficient of x in the expression -9 -7x
a)-9
b)7
c) -7
d)12
12. The algebraic expression of  ‘Number 12 added to 7times of product of m and n’ is
a) 12 +7m+n
b)7m +7n+12
c) 7mn+12
d)7+ 12mn

13. The algebraic expression of ‘Product of x and y2subtracted from 15’ is

a) 15 – x –y2

b)15x - y2

c)xy2-15

d) 15 - xy2

14. The exponential form of 10000 is

a)105

b)210

c)104

d)410

15. The value of (−5 )
4is

a) 125
b)-125
c)625
d)-625

16. (−4)5×(−4)5=??

a) (−4 )
25

b)(−8 )
5

c)(−4 )
10

d)410

SUBJECTIVE:



1.Find out 5 rational numbers between 

5
6
∧3

4
.

2.Write  the rational number whose numerator is (-3) x 4 and whose denominator is (45 -23) x (9-2).

3. Express 
7
9

 as a rational number whose denominator is 108.

4. Area of a circle is 154 sq.cm .Find its circumference.
5. A wire of length 176 cm is first bent into a square an then into a circle. Which one will have more area?
6. A rectangular park is 45m long and 30 m wide. A path 2.5 m wide is constructed outside the park. Find 
the area of the park.
7.Draw the tree diagram of the following expressions.
a) -7xy +15

b) x2+5xy
c) xy +2 y2+8xy
8. Subtract 3 x2−x¿5 x−x2.
9. Find out sum of 2 x2+3 xy−5∧12+9 xy−x2

10.Express the following numbers as product of powers of their prime factors.
a) 405
b)500
11. Express each in exponential form.
a)729 x 125
b) 384 x 147
12. Simplify the following equation.

103× 90+33×2+70
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vH;kli=d] 2024
laL—re~

vof/k% & gksjk=;e~ d{kk & lIreh iw.kk±dk% & v'khfr%

fnukad% & 00-00-2024 ¼oklj%½

fo|kfFkZu% uke ---------------------------------------------------------------------------------------- oxZ% -----------

funsZ’kk% &
 losZ iz’uk% vfuok;kZ% lfUr A
 iz’ukuke~ mRrjkf.k [k.MØekuqlkja Øes.kSo ys[kuh;kfu A
 iz’ui= prqHkkZxs"kq foHkDrefLr vr% Hkkxkuke~ mYys[k% dj.kh;% A

[k.M% ^d* ¼vifBrkocks/kue~ & 10 vadk%½
iz-1 v/kksfyf[kre~ x|korj.ka ifBRok iznRriz'ukuke~ mRrjkf.k fy[kr &

,dnk ,d% dkd% fiikflr% vHkor~ A l% tyikuk; br% rr% vHkzer~ ijUrq l% dq=kfi tye~ u 

vi';r~ A vUrs l% m|kus ,de~ ?kVe~ vi';r~ l% ?kVL; lehis vxPNr~ A ;nk l% ?kVL; eq[ks 

mikfo'kr~ vi';r~ p ;r~ ?kVs rq LoYieso tye~ vHkor~ A l% tyL; ikuk; okje~&okje~ iz;Rue~ 

vdjksr~ A l% tyL; ikus lQy% u vHkor~ rFkk vfi l% fujk'k% u vHkor~ A rr% l% ,de~ 

mik;e~ vfpar;r~ A l% ik"kk.kL; [k.Mkfu ?kVs vf{kir~ ,oe~ ?kVL; ryLFkye~ tye~ ?kVL; d.Bs 

vkxPNr~ A l% Ik;kZIre~ tye~ vficr~ A l% vfr izlUu% vHkor~ A

I. ,dinsu mRrjr & (1×4=4)

d½ fiikflr% d% vklhr~ \

[k½ ?kVs fde~ vklhr~ \

x½ dkd% dL; eq[ks mikfo'kr~ \

?k½ d% fujk'k% u vHkor~ \

II. ,dokD;su mRrjr & (1×2=2)

d½ LoYie~ tye~ n`"V~ok dkd% fde~ vdjksr~ \

[k½ fiikflr% dkd% dnk izlUu% vHkor~ \

III. vuqPNsnL;@x|ka’kL; mfpra 'kh"kZda fy[kr A (2)

IV. ;FkkfunsZ'keqRrjr & (1×2=2)

d½ ^fiikflr% dkd%* vu;ks% in;ks% fo'ks";ine~ fde~ \

[k½ ^cgqokje~* bfr vFkkZ; v= fde~ ine~ iz;qDre~ \

[k.M% ^[k* ¼jpukReddk;Ze~ & 20 vadk%½

iz-2 tUrq’kkykHkze.ko.kZ;u~ LoHkfxuhe~ izfr e´tw"kk;k% lgk;r;k i=e~ fy[kr A (5)

e´tw"kk & cgqd"Ve~] nwjHkk"kL;] nwjhd`R;] lgk;rke~] ee] xrlIrkgkr~] d`Ik;k] vfLr] gseUr%] /kU;okn%



yktiruxje~
uofnYyh
frfFk % 00-02-2023
lfo/ks]
funs'kd egksn; !
nwjHkk"kdsUnze~
yktiruxje~ uonsgyh A

fo"k;% & nwjHkk"kL; fuf"Ø;rk A

ekU;%]
ee x`gL; nwjHkk"k% ¼1½--------- dk;Ze~ u djksfr A nwjHkk"kL; la[;k 2541019374 bfr vfLr A 
o;e~ ¼2½--------- vuqHkoke% A ¼3½
vLekde~ ¼6½----------- dqoZUrq] bfr ¼7½
¼9½-----------A

iz-3 e´tw"kkr% inkfu fpRok laokna iwj;r &

e´tw"kk & ipfl] iz;PN] lSU/koe~] iz;PNkfe] ipkfe

ekrk & gs iqf= ! lSU/koe~ vku; A

iq=h & bne~ vfLr ¼1½------------------

ekrk & v/kquk yoax};e~ iz;PN A

iq=h & ¼2½------------------ A gs vEcs ! Roe~ fde~ ¼3½

ekrk & gs iqf= ! vge~ rq x`´tukfu ¼4½

iq=h & eg~;e~ rq iDokfu x`´tukfu u jkspUrs A eg~;e~ rq viDoe~ x`

¼5½-------------- A

iz-4 fuEukafdra fp=a e´tw"kkr% inkfu fpRok i

e´tw"kk &
oh.kke~ okn;fr] rcykoknd%] xk;fr] ,rr~] fp=e~] xk;d%]

/ofufoLrkjd;U=s.k] ik'osZ] okn;fUr] u`R;r%] jaxeapL;] vfLr

[k.M% ^x* 

dk;Ze~ u djksfr A nwjHkk"kL; la[;k 2541019374 bfr vfLr A 
vuqHkoke% A ¼3½--------- 'kh?kze~ ¼4½--------- fod`fre~  ¼5½

bfr ¼7½----------- izkFkZuk ¼8½-----------A

fuosnd%
¼10½-----------

tw"kkr% inkfu fpRok laokna iwj;r &

ipfl] iz;PN] lSU/koe~] iz;PNkfe] ipkfe

------------------ A

A gs vEcs ! Roe~ fde~ ¼3½------------------ \

tukfu ¼4½------------------ A

tukfu u jkspUrs A eg~;e~ rq viDoe~ x`´tuesde~ 

tw"kkr% inkfu fpRok i´pokD;s"kq o.kZ;r &

oh.kke~ okn;fr] rcykoknd%] xk;fr] ,rr~] fp=e~] xk;d%]
/ofufoLrkjd;U=s.k] ik'osZ] okn;fUr] u`R;r%] jaxeapL;] vfLr

[k.M% ^x* ¼vuqiz;qDrO;kdj.ke~~ & 20 vadk%½

dk;Ze~ u djksfr A nwjHkk"kL; la[;k 2541019374 bfr vfLr A 
fod`fre~  ¼5½---------

----------- A
(1×5=5)

(2×5=10)
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iz-5 v/kksfyf[krokD;kuka laLd`rHkk"kk;ke~ vuqokna dq#r &

d½  ge lc fy[krs gSa A

[k½  os lc iqLrdsa i<+rh gS A

x½  rkykc esa eNfy;kWa rSjrh gSa A

?k½  jke dk fe= vkrk gS A

³½  eSa lkbfdy ls tkrk gwWa A

(1×5=5)

iz-6 mfpra la[;kina fpRok fjDrLFkkukfu iwj;r &

d½  x`gs¼2½----------------------Nk=s x`gdk;Ze~ dq#r% A¼}kS@}s½

[k½  o`{ks¼2½---------------------Qys Lr% A ¼}kS@}s½

x½  v=¼2½---------------------xtkS Hkzer% A ¼}s@}kS½

?k½  ,dfLeu~ gLrs¼1½----------------vaxq"B% Hkofr A ¼,ds@,d%½

³½  lIrkgs¼7½-----------------------fnolk% HkofUr A ¼lIrk%@lIr½

(1×5=5)

iz-7 funsZ'kkuqlkja mfpra 'kCn:ia fy[kr & (1×5=5)

1½  ^vLen~* 'kCnL; izFkek cgqopus fda #ia Hkfo";fr \

¼d½ vge~ ¼[k½ vkoke~ ¼x½ o;e~ ¼?k½ eke~

2½  ^;q"en~~* 'kCnL; "k"Bh ,dopus fda #ia Hkfo";fr \

¼d½ ro ¼[k½ ;qo;ks% ¼x½ ;q"ekde~ ¼?k½ rs"kq

3½  ^xq#* 'kCnL; f}rh;k ,dopus fda #ia Hkfo";fr \

¼d½ xq#e~ ¼[k½ xq: ¼x½ xq:u~ ¼?k½ xq#.kk

4½  ^dfo* 'kCnL; r`rh;k cgqopus fda #ia Hkfo";fr \

¼d½ dfouk ¼[k½ dfoH;ke~ ¼x½ dfofHk% ¼?k½ do;s

5½  ^xq#* 'kCnL; iapeh f}opus fda #ia Hkfo";fr \

¼d½ xqjks% ¼[k½ xq#H;ke~ ¼x½ xq#H;% ¼?k½ xq#.kke~

iz-8 funsZ'kkuqlkja mfpra /kkrq:ia fy[kr & (1×5=5)

1½ ^ik* /kkrks% y`V~ydkjs mRreiq#"k&,dopus fda :ia Hkfo";fr \

¼d½ fickfe ¼[k½ fifc";kfe ¼x½ ikL;kfe ¼?k½ fifc";fUr

2½ ^iB~* /kkrks% yV~ydkjs e/;eiq#"k&f}opus fda :ia Hkfo";fr \

¼d½ iBkfl ¼[k½ iBFk% ¼x½ iBFk ¼?k½ iBfr

3½ ^xe~* /kkrks% y³~xydkjs izFkeiq#"k&cgqopus fda :ia Hkfo";fr \

¼d½ vxPNu~ ¼[k½ vxPNrke~ ¼x½ vxPNr~ ¼?k½ vxPN%

4½ ^LFkk* /kkrks% yksV~ydkjs e/;eiq#"k&f}opus fda :ia Hkfo";fr \

¼d½ fr"B ¼[k½ fr"Bre~ ¼x½ fr"Br ¼?k½ fr"Brq
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5½ ^py~* /kkrks% fof/kfy³~x&ydkjs mRreiq#"k&cgqopus fda :ia Hkfo";fr \

¼d½ pys;e~ ¼[k½ pyso ¼x½ pyse ¼?k½ pys%

[k.M% ^?k* ¼ifBrkocks/kue~ & 40 vadk%½
iz-9 v/kksfyf[kra x|k’ka ifBRok iz'ukuke~ mRrjkf.k fy[kr &

es?kukn% ef{kdka vonr~ & ^^;Fkkga dFk;kfe rFkk dq#re~A ef{kds ! izFkea Roe~ xtL; d.ksZ ’kCna 
dq#] ;su l% u;us fuehY; LFkkL;fr A rnk dk"BdwV% p¥Pok rL; u;us LQksVf;";fr A ,oa l% 
xt% vU/k% Hkfo";fr A r`’kkrZ% l%¼xt%½ tyk’k;a xfe’;fr A ekxsZ egku~ xRrZ% vfLr A rL; 
vfUrds vga LFkkL;kfe ’kCna p dfj";kfe A ee ’kCnsu re~ xr± tyk’k;a eRok l rfLeUuso xrsZ 
ifr";fr efj";fr pA** vFk rFkk d`rs l% xt% e/;kg~us e.MwdL; ’kCne~ vuql`R; egr% xrZL; 
vUr% ifrr% e`r% pA rFkk pksDre~ & ^cgwukeI;lkjk.kka leok;ks fg nqtZ;%*A

I ,dinsu mRrjr & (1×2=2)

d½ r`’kkrZ% xt% dq= xfe";fr \

[k½ d% vU/k% Hkfo";fr \

II iw.kZokD;su mRrjr & (1×2=2)

v½ es?kukn% ef{kdka fde~ vonr~ \

c½ dk"BdwV% d;k xtL; u;us LQksVf;";fr \

III ;FkkfunsZ’ke~ mRrjr & (½×2=1)

d½ ^^es?kukn% ef{kdka vonr~ A** v= dr`Zina fde~ \

[k½ ^^xt% vU/k% Hkfo";fr A** v= fo’ks"k.kina fde~ \

iz-10 v/kksfyf[kra x|k’ka ifBRok iz'ukuke~ mRrjkf.k fy[kr &

fo|k uke ujL; :ief/kda izPNUuxqIra /kue~] fo|k Hkksxdjh ;'k% lq[kdjh fo|k xq:.kka xq#% A

fo|k cU/kqtuks fons'kxeus fo|kijknsork] fo|k jktlq iwT;rs u fg /kua fo|k&foghu% i'kq% AA
I ,dinsu mRrjr & (1×2=2)

d½ d% Ik'kq% \
[k½ fo|k dq= iwT;rs \

II iw.kZokD;su mRrjr & (1×2=2)

d½ fo|k ujL; dhn`'ke~ /kue~ vfLr \

[k½ fo|k cU/kqtuks dnk Hkofr \

III ;FkkfunsZ’ke~ mRrjr & (½×2=1)

d½ ^^xq:.kke~** bfr ins dk foHkfDr \

[k½ ^fo|k jktlq iwT;rs* bfr okD;s dr`Zina fde~ vfLr \

iz-11 js[kkafdrkfu inkfu vk/k`R; iz'ufuekZ.ka dq#r & (1×5=5)

dk] dku~] dL;] d%] dk



(5/5)

d½ v’o% /kkoule;s fdefi u [kknfr A

[k½ iq"is"kq fp=ir³~xk M;Urs A

x½ ’osro.kZ% lkfRodrk;k% ’kqfprk;k% p |ksrd% A

?k½ e.MwdL; ’kCne~ vuql`R; egr% xrZL; vUr% ifrr% e`r% pA

³½ otL; e/;s ,da uhyo.kZa pØa orZrs A

iz-12 e¥tw"kkr% lekukFkZdkfuinkfu fpRok fy[kr & (1×5=5)

e¥tw"kk & lEiUue~] R;DRok] izlUur;k] foLe;su] dqVqEcL;

d½ vk'p;sZ.k

[k½ ifjokjL;

x½ vigk;

?k½ le`)e~

³½ mYyklsu

iz-13 e¥tw"kkr% foi;Z;inkfu fpRok fy[kr & (1×5=5)

e¥tw"kk & nwjLFke~] ] fe=rk;k%] y?kqpsrlke~] foØsrqe~] v/kquk A

d½ Øsrqe~ 
[k½ mnkjpfjrkuke~

x½ iqjk

?k½ lehiLFke~

³½ ’k=qrk;k%

iz-14 e¥tw"kkr% mfirina fpRok fjDrLFkkukfu iwj;r & (1×5=5)

e¥tw"kk & o`{kL;] lw;kZ;] viBke~] fo|ky;e~] xzkee~ A 
d½ -----------------mHk;r% o`{kk% lfUr A 
[k½ -----------------ifjr% xkspkj.kHkwfe%A 
x½ -----------------ue%A 
?k½ ------------------mifj [kxk%A 
³½ o;a laLd`re~------------------ A



 

Practice Worksheet 
Class: VII Topics:  

: Reproduction in plants 
: Electric Current and Its Effects 
: Waste water story 
 
 
 
 
 

Subject: Science 

 

(A)Multiple Choice Questions- 

1. The transfer of pollen from the anther to stigma is called 

1. Pollination 

2. Fertilization 

3. Adoption 

4. Diffusion 

2. The fusion of female reproductive nucleus with the male reproductive nucleus is known as 

1. Adoption 

2. Excretion 

3. Fertilization 

4. Regeneration 

3. Which of the following contain the female gametes of a flowering plant? 

   1. Ovules 

   2. Buds 

   3. Pollen 

   4. Spores 

   4. Which of the following is not a vegetative part of a plant? 

    1. Stems 

    2. Leaves 

    3. Flowers 

    4. Roots 



5. Vegetative propagation in sweet potato takes place by 

1. root 

2. leaves 

3. seed 

4. stem 

6. Vegetative propagation is a type of 

1. asexual reproduction 

2. sexual reproduction 

3. binary fission 

4. none of these 

7. In fern, asexual reproduction takes place through 

1. spore formation 

2. fragmentation 

3. budding 

4. binary fission 

8. In an electric circuit, the bulb glows only when the switch is in the 

1. ‘ON’ position 

2. ‘OFF’ position 

3. (a) or (b) 

4. none of these 

9. An electric iron is an example of 

1. heating effect of current 

2. magnetic effect of current 

3. chemical effect of current 

4. physical effect of current 

10. The amount of heat produced in a wire depends on its 

1. material 

2. length 

3. thickness 

4. all of these 



11. Which of the following is being used in place of fuses? 

(a) MCB 

(b) Nichrome 

(c) Filament 

(d) Switch 

12. Which of the following is not a reason for excessive currents in electrical circuits? 

1. Direct touching of wires 

2. Short circuiting 

3. Switch in ‘off position 

4. Overloading 

13. When electric current passes through a wire, it behaves like a 

1. battery 

2. magnet 

3. fuse 

4. compass needle 

14. The given set up is related to the- 

1. Electromagnet 

2. Heating effect 

3. Chemical effect of current 

4. Both 1 and 3 

15. Who discovered magnetic effect of current? 

1. H.C. Oersted 

2. Michael Faraday 

3. Ohm 

4. Flemming 



16. Water that is not fit for use is called 

1. clean water 

2. wastewater 

3. both (a) and (b) 

4. none of these 

17. Wastewater released by homes, factories, industries and other users is known as 

1. polluted water 

2. sewage 

3. both (a) and (b) 

4. none of these 

 

(B) Subjective Questions (To be written in the subject notebook only)- 

1. What is seed dispersal? What will happen if all the seeds of a plant were to fall at a same place and grow? 

2. Observe the given figure?  

(a) Which plant is this? Give the name of the plant. (b) 

(b) What does it shows? (c) 

(c) From where the new plants are developing? 

 

3. Explain why are CFLs (Compact Fluorescent Lamps) preferred over electric bulbs? 

4. Paheli does not have a night lamp in her room. She covered the bulb of her room with a towel in the night to 

get dim light. Has she taken the right step? Give one reason to justify your answer. 

5. Give reasons for each of the following- 

(a) We should not throw used tea leaves into sink. 

(b) We should not throw cooking oil and fats down the drain. 

6. Suggest two alternative arrangements for sewage disposal where there is no sewerage system. 

7. Name two things that can be made from sludge extracted during treatment of sewage. 

 

 



Worksheet-1
Class: VII Topic:

Ch.6 Understanding Media
Ch-8  Human Environment Interactions: 
Tropical and Subtropical regions
Ch10.18th century political formations

Subject: Social Science
(Winter Break Worksheet)

Ch. 6. Understanding Media

Q1. Which statement is not right according to you regarding media?
A. Maximum number of media houses is owned by big houses.
B. Big business houses and media have some kind of balanced relationship between 
them.
C. Mass media constantly think ways of making money.
D.Different technologies that media uses are not so expensive.
Q2. Match  column A with column B:

Column A Column B
1.  J.L. Baird A. local paper in U.P
2. A Gutenberg B. Television
3. Satellite C. Printing press
4. Khabar Lahriya D. Revolutionized mass media

A.1-B,2-C,3-A,4-D.
B.1-B,2-A,3-D,4-C.
C.1-B,2-C,3-D,4-A.
D.1-C,2-A,3-D,4-B.

Case Study
A public movement began in the state of Rajasthan in the 1990s that demanded the 
right to information. In fact, the people who were employed in public works were being
denied their full wages. When they wanted to see the records to claim their full wages, 
the government officials denied them to show them on the ground that such records are 
secret documents of government.
Later, an NGO, named the Mazdoor Kisan Shakti Sangathan (MKSS) raised the 
people’s issue.It aimed at to get all documents related to public works. The MKSS 
organized public awareness campaign, dharnas etc.in several towns of Rajasthan. Later 
the government of Rajasthan passed a law on the right to information in 2000.Several 
other state government also passed their own law in this regard. Ultimately in 2005, the
central government also passed the Right to Information Act.
Right to Information Act came into force in India in October 2005. The main 
provisions of the Act are as under:

 The Act gives the citizens the legal right to get information from the government
on the issues that concern them.

 The authorities have to provide the information people want, within 30 days of 
the filing of the application.



 If the matter concerns the life and liberty of the applicant, answers have to be 
given within 48 hours.

 Every public institution or body established, controlled or funded by the 
government, must maintain its record in such a way that such records can easily 
be accessible to the people.

On the basis of your study answer the following questions:
Qi. What was the demand of the public movement? In which state the movement 
started first?
Qii. Name the NGO which raised the public issue.  How they execute this movement?
Qiii. In which year Right to information Act passed in India? Write any one provision 
of this act.
Qiv. How did the ordinary people benefitted from this Act?
Q4. Consider the following statements about media and money and choose the 
correct option:
1.Modern mass media needs expensive technology and experts.
2. Media companies make money from advertisements that are repeated to make people
buy different things and services.
3. In a news studio, it is the newsreader and also the number of other people who help 
put the broadcast together who do not need to be paid.
A. Only statement 3 is correct.
B. Both the statements 1 and 2 are correct.
C. Both the statements 2 and 3 are incorrect.
D. All the statements 1, 2 and 3 are correct.

Q5. Read the statements and choose the correct option:
Assertion (A): The reality is that media is far from independent.
Reason(R):The government has the control on the media.
A.Both Assertion and reason are true and reason is the correct explanation of assertion.
B. Both Assertion and reason are true but reason is not correct explanation of assertion.
C. Assertion is true but reason is false.
D.Both assertion and reason are false.
Q6. Read the statements and choose the correct option:
Assertion(A):A Television creates awareness about the world.
Reason( R): Many programmes are not age appropriate.
A.Both Assertion and reason are true and reason is the correct explanation of assertion.
B. Both Assertion and reason are true but reason is not correct explanation of assertion.
C. Assertion is true but reason is false.
D.Both assertion and reason are false.

Human Environment Interactions: Tropical and Subtropical regions

Answer the following questions:

Q1. What is the Latitudinal extent of Amazon Basin?
Q2.The place where a river begins is called its source. River sources are also called 
headwaters. What do you mean by river’s mouth?
Q3. What do you mean by Slash and Burn agriculture?



Answer the following questions:

         
Q1.Where does Ganga - Brahmaputra basin lie?
Q2. Mention the latitudinal extent of Ganga-Brahmaputra Basin?
Q3. Name 5 tributaries of river Ganga and 3 tributaries of river Brahmaputra.
Q4. Compare and Contrast the life of the people of Ganga-Brahmaputra Basin and 
Amazon Basin. (5 points)

18th Century Political Formation

Q1.Tick the correct option:
1.Who was the last Mughal emperor of India?
i) Alam Shah II
ii) Bahadur Shah Zafar
iii) Muhammad Shah
iv) Feroz Shah
2. Dalkhalsa was set up in 1699 by
i) Guru Nanak Singh
ii) Guru Tegh Bahadur
iii) Guru Gobind Singh
iv) Guru Har Kishan
3.Mughal nobles were divided in two fractions, the ………….. and the ……………
i) Persians, Hindus.
ii) Iranis, Turanis.
iii)Gujaratis, Marathas.
iv) Pakistani, Afghani.
Q2. Identify the picture and choose the correct name of the observatory, ruler  
and cities.

A.Lotus Temple, Maan Singh, Udaipur, Delhi, Chandigarh, Kanpur, Varanasi.
B.Jantar Mantar, Sawai Raja Jai singh, Delhi, Jaipur, Ujjain, Mathura and Varanasi.



C.Stupa, Ashoka, Allahabad, Sanchi, Lucknow, Delhi, Ujjain.
D.Vijay Stambh, Chhatrapati Shivaji Maharaj, Pune, Jaisalmer, Awadh, Murshidabad, 
Ahmedabad.
Q3. How were the Sikhs organised in the eighteenth century?
Q4. Describe the factors that led to the downfall of Mughal empire in the mid17th and 
18th century?

XXXXX




